Chas Warren

Weekly Assignment 5

1.  The question is:  why does the transitivity of identity theory pose a problem for cases like the Ship of Theseus?

The transitivity of identity theory is this:  If A is identical with B, and B is identical with C, then A is identical with C. 

The Ship of Theseus paradox has many forms, but I like John Locke’s favorite sock version best.  You have a favorite sock that you mend with a patch when it develops a hole.  You do this every time it develops a hole, for many years.  Ultimately, none of the original material remains.  Is it the same sock?

The problem arises or vanishes depending on how we answer the paradox.  If the answer is yes, it is the same sock, then there is no conflict or contradiction.  If the answer is no, then the transitivity of identity theory is in trouble.

In other words, if the original sock (A) is identical with the heavily patched sock in which no original material remains (C), then the transitivity of identity theory survives.  

If sock A is not identical with sock C, then the transitivity of identity theory collapses, at least as currently articulated.

2. A reconstruction of Weirob's argument that the identity of persons over time does not consist in the sameness of souls over time:

Premise 1: You equate my soul with my identity as a person (i.e., with my personal identity).

Premise 2:  You cannot see or feel or touch my soul.  The soul currently occupying this body might be an entirely different soul than the soul that occupied it yesterday, or five minutes ago.

Conclusion: Therefore, you cannot establish that I have the same personal Identity now that I had yesterday, or five minutes ago.

